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1 1 805 D RE EEOa1=7 065351 2kmBF NFESEHE
2 2 804 B EX 0753158 2kmBF INFESEE
3 3 807 FHEWIE EMA—RR—ILHST 074> 25%) kmBF INFEEE
4 4 806 HHZZN BT R)—k 0743 44%) 2kmBF NFESFELE
5 5 801 #HA B VEMTEF 07435085 2kmBF INFSEE
6 1 1102 i RK 754X 0743547 2km&EF INFESFELE
7 2 1103 e B3 U754 0843037 2km&EF INFESELE
6 809 WHEER Bm7 X — (FEs) 0853147 kmBF INFEEE
9 7 803 =5 f#EzhE 754X 0843157 kmBF /INFSEL
10 3 1101 A EH VEHT&F 085> 16F) 2kmEF INEOHEFE
1 4 1104 B0 &H TMC7 R1)—Y 084y 52F) 2km&EF INFESFELE
12 8 802 ;R B VL HT&F 1053057 2kmBF NFESFEE
13 5 1106 hHLE A7 RY— (FH) 105> 18%) 2km&ZF INFESELE
14 6 1105 NomEE EMR—RKR—ILYST 10531950 2km&EF INFESELE

15 9 808 SH=IE HrR7X)— (R 125309F) ZkmBF INESEHE



